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General Instructions:

(1)
(i1)
(iii)
(iv)
(v)
(vi)

(vii)

The question paper is divided into five sections- Section A, Section B, Section C, Section D and
Section E. The question paper has 12 questions in all.

All questions are compulsory; however internal choices are given in some questions. Attempt any one
of them.

Marks are indicated against each question.

Section A [Question number 1(i) to 1(xii)] has objective questions of 1 mark each.

Section B [Questions from serial number 2 to 5] are short answer type questions of 3 marks each.
Answer of these questions should not exceed 40 words each.

Section C [Questions from serial number 6 and 7] are long answer type questions of 4 marks each.
Answer of these questions should not exceed 80 words each.

Questions from serial number 8 to 11 are competency based/source based questions, carrying of 6
marks each.

(viii) Question number 12 is a map-based question of 4 marks.

(ix)

Separate questions are given for visually impaired student only in lieu of map based question
number12.



!Ei?:’il?/Section A
T TEAT (i) T (xii) dTF & T2 A 3R Rveq) w1939 Hifaw|

In question numbers (i) to (xii), select the appropriate alternatives.

12x1=12

3T AR P APRICHD F T HThedl AT 3og old HHASTAT HEATT &-
(a) TGS TR0

(b) qaTarg

(c) GHATAAT

(d) 3o1H & HIg el
372rar
9 &7 g 9 T U & ofd H 919 aa § IT 396 IR FH Y RO

(c) =3I

(d) $TH SIS AT

To judge other people negatively or see them as inferior is called-
(a) Stereotype
(b) Prejudice
(c) Equality
(d) None of these
OR
When we bind all people in a single image or make a firm impression about them,
then it is called .............. -
(a) Stereotypes
(b)Prejudice
(c) Justice
(d) None of these

(i)

"HTARIETAT" 25 FT T §-

(a) 9T HUAT GHE T HH ool o T Facid gl

(b) ST ST 37T AT Sefet X 39T T T Yol T A HTHTFA el i TG
gleil AR

(c) FafFieeT et 3R faeara & et 1 9T fonalY figeta & 319er o7 & TeieT it
3R 3T GTeTeT et T TaATAT B |

(d) T F 9 FA FUHR FR 37TTW ¢l

The term “secularism” means-

(a) People are free to choose the kind of work they wish to do.

(b) People must have the freedom to speak their language and express themselves
freely.

(c) People of different religions and faiths have the freedom to practise and follow
their religion without any fear of discrimination.

(d) Everyone has equal rights and opportunities.




(iii)

IATH AT Th TaId &9 H o arer ol .. $Hraem gar gl

(a) St
(b) TITHI
(c) gt
(d) Aot
34T
FS off afda EH 3H oo T 3N e @, o die e @

#fRHR urea g AR e A aiig Hr Aderar A 7 &, a8 A Fqr v
HET @I g

(a) 15 a¥

(b) 20 aY

(c) 18 a¥

(d) 25 ay

The Gram sabha is a meeting of all ................ who lived in the area covered by a
Panchayat.
(a) Children
(b) Adults
(c) Men
(d) Women
OR
Anyone whois ................ old or more and who has the right to vote is a member of
the Gram Sabha.
(a) 15 years
(b) 20 years
(c) 18 years
(d) 25 years

(iv)

Panchayat Secretary is appointed by the ...............
(a) Gram Sabha

(b) Gram Panchayat

(c) Government

(d) Sarpanch




(v)

feIfaf@a & & d@Fse &1 g9d 31 N Fila-ar g2
(a) &
(b) g2dr
(c) FITA
(d) e1fat
37qar
TR PR -
(a) TRTHIT 15 IS Thalldex
(b) TRTHIT 25 FAUS ThellAT
(c) SIITHIT 15 org fohellAY
(d) STITHT 20 el

Which of the following is the largest body of the solar system?
(a) Sun
(b) Earth
(c) Jupiter
(d) Saturn
OR
Distance from the Earth to the Sun is-
(a) Approximately 15 crore km
(b) Approximately 25 crore km
(c) Approximately 15 lakh km
(d) Approximately 20 km

(vi)

AAIA: 39 Uh F & fheell g qiotAr (R i drell ) H &
Thd &2

(a)l

(b)2

(©)3

(d)4

How many times can you generally see full moon night in a month?
(@)1

(b)2

(©)3

(d)4

(vii)

¥ aRT . feem & sfaa war &1
() afeyor

(b) g

(c) ITRT#H

(d) 3

The Pole Star indicates the ............... direction.
(a)South

(b)East

(c)West
(d)North




(viii)

UGHAT ST UM Al & AT T H........e gl

(a) Th-fETS

(b) 3TeT

(c) Th-TtaTg

(d) TS

3rerar

AT, g H U TaFRY eI fhdel T F o ar &2
(a) 15 fe=T

(b) 30 f&=T

(c)27 &=t

(d) 40 &=t

The moon’s diameter is approximately ............. that of the earth.
(a) One-third
(b) Half
(¢) One-fourth
(d) Two-third
OR
In approximately how many days does the Moon complete one revolution of the
Earth?
(a) 15 days
(b) 30 days
(c) 27 days
(d) 40 days

(ix)

YIEI-HIEH & SR §« gid o-
(2) TeAT (b) oTehsT OFEED (d) T &afr

The tools of hunter-gatherers were made of-
(a) Stone (b) Wood  (c) Bone (d) All of these

()

ST ¥ I @ A Ggel S T ARAT 3UAGIAIT H @I a3, 3eTah!
HISTeT T ST Flal T AT & MR W FF A1 & ST 82

(a) 3T

(b) ESTAT & eflar

(c) 3TWTH TICT-TIATH

(d) 3T | IS G

By what name are the people who used to live in the Indian subcontinent two million
(20 Lakhs) years ago, on the basis of the method of arranging their food known as?
(a) Aryans

(b) Harrapans

(c) Hunter-gatherers

(d) None of these




(xi)

3YCH- WIeI-HIAEH Teh T & GEY TUT W FA AT T A?
(a) Toh TUTT WX 39cisT THT FATYAT & AT gl W

(b) AT wel T Git T qomer H

(c) (a) AR (b) a¥At

(d) T | P ol e

Why did Hunter gatherers move from one place to another?

(a) After exhaustion of all the available resources of given place.
(b) In search of seasonal fruits and plants

(c) Both (a) and (b)

(d) None of these

(xii)

HIECH- WIET-HIATge 3T T SEAATS fohed 1T & forw i A?
(a) 9eRTer & forw

(b) ATH 811 & faT

(c) TeRaATeh STTeTer sl &Y HETA o foIT

(d) 3TRercT T

For what works did the hunter gatherers use fire?
(a) As a source of light

(b) To roast meat

(c) To scare animals

(d) All of the above

@S T /Section B
argrmzr 2T (2 & 5)/Short Answer Type Question(2 to 5)

3x3=9

gt &l WSS T TTH IHEHI Ig T gl ATl 67
372rar
Y AR & FEIdT ¥ Y T & FAG femsit &1 f@eRor a4 w7 v &2

Why is the earth called a unique planet in the solar system?
OR
How can you determine direction during the night with the help of the Pole Star?

39 9IRT H ATH & 5:30 §99d ¢ d¥ sl A SIUgL & 12:00 goid & | HRUT TISE
o]

When it is 5.30 P.M. in India than London clocks 12.00 Noon? Give reason.

WAl I aTel 19T Ueh a1 TATT TR oIS HT doh FI7 T§d A?

Why did people who grow crops have to stay at same place for long time?

FhI-GR[UTelhl T SideT INWECH-TIed FATEH & Siided § fohctalr et a1

In which ways the lives of farmers and herders would have been different from that of
hunter gatherers?




@S /Section C
-390 weaT (6 3IR 7)/Long Answer Type Question(6 and 7)

4x2=8

gedl & el 19 Fieaet Hisf § §2 F&IT 7 Fd1sU|
372rar
YT IR & HARISET Holeh THY hY I0TAT hal T STl 82

What are the three heat zones of the Earth? Answer briefly.
OR

How is the international standard time calculated from the Prime Meridian?

ATH FHT T FAT Aged o? &I H JAST| FIT HATIH! &1ar g fon qefr aren
FT ATH AT FT do H BT o1 A1fige? #3472

What is the importance of the Gram Sabha? Mention briefly. Do you think all people
should attend the meetings of Gram Sabha? Why?

WS u/Section D
&THAT 3TTRT 92T (8 & 11)/Competency based Question(8 to 11)

4x6=24




T 1T TreEmer F ggF g AT WAl F W dfSw-

ACHTT T gIaT § SIa oleT qaargl AT Feaeyl YRUMMT & YR 9 JdeN
X §1 3R T e @ SAEr @e & v $w #d § 3R 3T 3¢
$T AR 7 69T 9 @ Ahd &, fFdl T AR 1 w3 & Ahd &
7 e Higed F el 6T &0, Th & U AFSUT F el 761 ool &l 3R
Il EART SEAAT fhT ST 3§ &9 a1 e & 9 a8 9 & o sHer
AdeE g T 3T 3oTch A1 AGHTT FX B o

8.1 “TTgeh, oIsfhal ur fevuoll v @ & & =fhar 39 @Rg a8 @
gahdriesa ufa 7 s $r feoaoly wgardr §-

(a) TITFAT (b) FfGATEr &ROT

(c) FATAT (d) 3T & FIg oLl

8.2 HUF 3N HIH 3 AW g, IR qEU HIWIC Hgcaqol =& gl
TR &-

(a) Ffearer aRom (b) =T
e F T S S (d) SoT8 & IS T
8.3 NEHT I AT &iaT & STa-

(a) AN T Frem @ & v $o w1 g
(b) 3¢ Fo AR 7 AT ot T et B
(c) SII3TT 3T 379eT €137 T UTelel et 31T HTNT STelel, 379 cAIER FHellel 3R 3197
379 T ol &9 H HTHeTerd iet T TSI gleil =113V |
(d) Tsh €Y U AT 83T F UTall oTE1 ofet Sof 3R GERT SaRT SEAATS FohT ST T¢ T AT
OEIGEEPGHEGEG]

3rar
il TT FUF AT T T G &2
() 3TYT e & ST Tk oIgehl & 1Y A Tl Tl J AR X od
g Fifer I drad § Tk ag a1cr g
(b) RET WA & WE ITIRUT F AAS 33 U IS 3T Yol
ATl Bl
(c) Tordll @rE enffieh FHET WX qdiaE & IR gl ool e
(d) Ight 3R TRl & Uer arEdeT e # e




Read the given passage and answer the following questions.

Discrimination happens when people act on their prejudices or stereotypes. If you
do something to put other people down, if you stop them from taking part in certain
activities and taking up jobs, or stop them from living in certain neighbourhoods,
prevent them from taking water from the same well or hand pump, or not allow
them to drink tea in the same cups or glasses as others, you are discriminating
against them.

8.1 “Some boys make remarks about girls not being able to play games like them.”
Boys’ remarks in this situation is called-

(a)Liberty (b) Stereotype

(c) Equality (d) None of these

8.2 Statement “English is the best language and other languages are not important.”
is based upon-

(a)Stereotype (b) Justice

(c)Both of them (d)None of these

8.3 Discrimination does not happen when-
(a) Do something to put other people down
(b) Stop them from taking part in certain activities
(c) Freedom to follow their religion, speak their language, celebrate their festivals
and express themselves freely.
(d) Prevent them from taking water from the same well or hand pump, or do not
allow them to drink tea in the same cups or glasses as others

OR
Which statement is not related to discrimination-
(a) Children in your class refuse to share their food with a particular person because
they think that she is dirty.
(b) Someone tells you a joke that makes fun of a community because of their accent.
(c) Makes a prejudicial comment about a particular religious community.
(d) Boys and girls play a friendly cricket match.




T a1T TEmer A ggH g AT weaAl F IW v
THITT-3 37T Y 85 ! Wl WA gl & &Y qguoﬂ gSdr gl ofseh al B &
STE; JGI-ag! EFHRT STcl &hieh IRTH § B SATC, ot 3fY Fohely ohl theh oTEt Tscll| H Tar
TRel & B 3T & ST 379AT HFHAT & TrY el-cliet BRT 3 HTH-HBIS T FHIH Il g,
fhY Ters el €1 39 Taieh dTe; &1 Weled ST Tl § | 3791 8 & ol Hely T Hee
A § | AR TS Y 3R 1T A1RT 3R a5 e FATC ol AT Fgell &, “chled-clleT sget
&, T off 9115 Y T T USaT & 1"

Teh ASHI-3T ST o BIC HTS HI & @ | Ig A% UTa-G: ATl &7 ¢ | ag & drerar
¢, “FFHY A T T AT AT §1? EIGT 3BT g ool A8 H Weld §UI" 30N
309 yBT fob o ge Welamm? Av siterdr g, g1, # al e é,@é:\dnl"

9.1 3TTRATEAT T AT T HeT "IAhT dlel dg] o | ThT 3T 38 FHA P ¢ | Te@Tar g-
(a) FoiIT Agema (b) STTfeT Feerma

(c) e AT (d) FATAT

9.2 SR & BIT HIS T FIT gl "HFHT, 3TT SIST I Welel & ToIT FIT ATdT 872 I8
HeloT TR 38 e Weld T TS ALl oIl |' 1" Fifeh 38 Hrelr -

(a) ST Teh 3! TS gl ¢ | (b)STIeT Uk ST5hT & |

(c) ST T ARA-87 3= TG B (d) 3T T IS & |

9.3 3T I AT THIS F I H 39 9¢ Y Heg T61 oIl FATTeh-
(a) TE Ueh oTSHT & | (b) 38 Tl ST & |
(c) a8 3ot fAemar & (d) 3TH & IS LT |




Read the given passage and answer the following questions.

Afsana: Even now, we are supposed to go home as soon as we finish playing. The
boys go here and there, and can chitchat till late. No one says anything. After coming
from school, I help my mother with the cleaning work in two or three houses, do my
studies and then come here to play. I also help at home. If my brother wants tea and
he makes it for himself, then mother says, “He has three sisters. Yet, he has to work.”
One girl: Now, just look at Zarin’s younger brother. He is only five years old but he
says, “Mummy, why do you send didi to play? She does not look nice playing like
that on the ground.” Ask him if he will play and he says, “I am a boy, of course I will

play!”

9.1 Afsana’s mother’s statement “He has three sisters. Yet, he has to work”.shows-
(a)Gender discrimination

(b) Caste discrimination

(c)Religious discrimination

(d) Equality

9.2 Why Zarin’s younger brother said “Mummy, why do you send didi to play? She
does not look nice playing like that on the ground.” !”” because he thought -
(a)Zarin is not a good player.

(b) Zarin is a girl.

(c)Zarin does not have good clothes.

(d) None of these.

9.3 Afsana’s mother do not take her son’s help in cleaning work because-
(a)He is a boy.

(b)He has to go to school.

(c)He is nice player.

(d)None of these.
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T a1T TEmer A ggH g AT weaAl F IW v

oAl crelt § fob sreroet & Sofehl @«-a@ﬁag?r%ﬂwd’rzﬁl 3¢ oRIehT WIAAIR
W e A gors H 3 e TEH 3T G WEH | Feirell SoTell ol INATER (STSeR)
g Y. T 97 318 gforpicer urree| U o 3¢ fohdY 3/aieT I & udr =er
1 & 31T UaTS Y AT ARET & ST Hehell 8 | THT 4T UT! GoAell o SThT 33T Ters
&, 2T o 31N 319 3 37aReT 7 Gad o GHT deh W@t arell Tgel Afger 2|

10.1 8T Thel o dlC, Gellell & 4T fohaT?

(a) ARTeRY gfRraTOT

(b) TRY&TOT UTSTHA

(c) ST TSI

(d) gellepTee ITIele Iy

10.2 GoATclT STe BT &Y Al 38 3BT SfaTclT UT-

(a) TTeT SATAT

(b) fordTs TgaT

(c) WeT 3T Trehr

(d) gfar

10.3 FolraT faforaea ey aeira aran =721 Reprs-

(a) ITIATH Fg aTell Teell Afgel

(b) T &l ARTehT et ATell Tgoll HAgell

(c) 3TARET H T ol AT deh Yg=1 dTell Igall ATgoll

(d) TSTHTI 9T FeA el STSTAT ohlet aToll Tgell Alfgell

Read the given passage and answer the following questions.

Sunita says that when she was a young girl she really loved sports and swimming.
She was never too interested in studies. After high school Sunita wanted to become
a diver. But she could not get into that course. Instead, she became a helicopter
pilot. One day she found out that if she studied and trained for it, she could join the
Space Mission. And that is what she did! In 2007 Sunita Williams set a new record for
the longest space flight by a woman.

10.1 What did Sunita do after high school?

(a)Swimming Training (b)Teaching course

(c)Dancing Course (d)Helicopter pilot course

10.2 When Sunita was a young girl she loved-

(a)Cooking (b)Reading books

(c)Sports and swimming (d)Painting

10.3 Sunita Williams set a new record of-

(a)Highest Jumping by a women (b)Longest swimming by a women

(c)Longest space flight by a women (d)Longest driving on highway by a women
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few arw g A TgHET @ AT oAl F I AfIw-
ST 12,000 ATl Tgel GfAAT Y STeldTg H o3 deelid 3T AR ITHT dgat ool |
sH% URUTHTTRT FS 8131 H °TH Tl HeTeT defet ofdr | Y fRor, aRefdET, #3,
TR 3R I A 3T TR T TE&AT IS, T TTH W ToleeT g Thd g
ST AT 3 SATAART T RIPR X A, T 3T So7oh 9IS 31T 3R 5o @raA-diet Fr
3TTedT 3T TSTeTeT & GHT HI STThRY BT hlel ofar| &Y GohdT § & d« o9 37
SR T Tehs Y 3T R o 3THAR UTelel I STcT HIet ofdl g1| A1 & 56
el 7 HSell HT $H1STeT T HgcdquT Al et TS |
11.1 SI3THIT 12,000 TTST Ul TTH Wt ATt SATAART hl HE&AT FAT §gat oT3fT?

3ar
T SI3THAT 12,000 TTST T ot s 8131 & TTH aTel HeTe gl oI3T | FT?
11.2 FIPR et aTel SATTaRT o SR H STTThRT F4T g ol el oTal?
11.3 FS eIl HISTeT & HAgcaqul Hid T &1 152
Read the given passage and answer the following questions.
Around 12,000 years ago, there were major changes in the climate of the world,
with a shift to relatively warm conditions. In many areas, this led to the development
of grasslands. This in turn led to an increase in the number of deer, antelope, goat,
sheep and cattle, i.e. animals that survived on grass.
Those who hunted these animals now followed them, learning about their food
habits and their breeding seasons. It is likely that this helped people to start thinking
about herding and rearing these animals themselves. Fishing also became important.

11.1 What led to an increase in the animals that survived on grass around 12,000
years ago?

OR
What led to the development of grasslands around 12,000 years ago?
11.2 Why did the hunters start seeking information about animals?
11.3 Why did fish become an important source of food?

12

!ﬁ?g./Section E
AT TR 92+ (12)/ Map Based Question(12)

1x4=4

R & fw aTv AT fas @1 AT U IR TAW A, B, € 3R D 3ifdra fFre e &)
3T TUTAT 1 ggare Fifore AR feafaf@a weat & wd Rwes #r giav

Four places have been marked as A, B, C and D on the outline political map of
India. Identify these places and choose the correct option in the following
questions.

12.1

AT W 3Hfhd REIS “A” Ygaiav Sigl 9 BT Td hed (Al g1 3

a;rq?rt"r’ JAHST OI&T & IIg g
(a) AR (b) AETS
(c) JoTgo () =Tl BT

Identify the Palaeolithic site marked “A” on the map with caves and rock shelters
close to the Narmada valley.

(a) Bhimbetka (b) Mehrgarh

(c)Burzahom (d)Kurnool caves




12.2 | AreAfea o) 3ifehed QEA “B” GgAIT ST61 W o 37aY ffel g
()l (b)feRTe
(c)FTel BT (d)sfrFASCaRT
Identify the Palaeolithic site marked “B” on the map where traces of ash have been
found.
(a)Hunsgi (b) Chirand
(c)Kurnool caves (d)Bhimbetka
12.3 | AART TR 3fohd AGUITIOT T “C” Pl TgATIT STEI Al I8¢ o #ATd BX Fallct
2 fSeg ITTaTH FgT ST § | T8 3 & forw Tifear gich o
(a) $fHSEH (b) ForETH
(c) FTe TP (d) g
Identify the Neolithic site marked “C” on the map where people were built pit-
houses, which were dug into the ground, with steps leading into them.
(a) Bhimbetka (b) Burzahom
(c) Kurnool caves (d) Hunsgi
124 | AT R 3ifehd 3R A 31Tq “D” TgafaT St Merady s & fhaArt Teh am|
(a)EHTHITTS (b) g &
(c) RRTe (d) AgTE
Identify the Early village marked “D” on the map near the Godavari River.
(a) Inamgaon (b) Hunsgi
(c) Chirand (d)Mehrgarh
fArafaf@a nea daa tReafta Refdat & v v d&ar 12 F Taar W =
TATEI
121 | 9RA & 39 T/ g AT YA HT ATH STgT Felel I IHI¢ A 8-
(a) IS (b) ISR
(c) ST 3R AR (d) 31TeT e=r
Name of the state/Union Territories of India where Kurnool caves are located is-
(a) Tamil Nadu (b) Gujarat
(c) Jammu and Kashmir (d) Andhra Pradesh
122 | R & 39 T/ s ATRAT TG T ATH STal HiAdcent fedd &-
(a) 3TTeT Ter (b) FET TC2T
(c) ST 3R AR (d) 3R IS
Name of the state/Union Territories of India where Bhimbetka is located-
(a) Andhra Pradesh (b) Madhya Pradesh
(c) Jammu and Kashmir (d) Uttar Pradersh
12.3 | HRA & 38 U/ e AT FEU T A1 ST61 goiglH U &-
(a) STFH 3R HIAR (b) TeATIT Ter=r
(c) Seticeh (d) 3T7er e
Name of the state/Union Territories of India where Burzahom is located-
(a) Jammu and Kashmir (b) Himachal Pradesh

(c) Karnataka (d) Andhra Pradesh




124 | IR & 39 U</ hg, ATTAT UL T ATH 8T SATHI T (AT &-
(a) IRIT (b) FERTSC
(c) AfFer =g (d) foBR
Name of the state/Union Territories of India where Inamgaon is located-
(a) Gujarat (b) Maharashtra
(c) Tamil Nadu (d) Bihar




